
 
 

                                                                                    

                                                                                                                    

 

3.     𝐸: Transpiration rate (milimol/m²/s)                                                                                            

                                                                                       

                                         𝐸 =  
𝑒𝑜 − 𝑒𝑖
𝑃 − 𝑒𝑜

× 𝑊 × 103 

                                         𝑒𝑜 =
ℎ𝑟𝑜 × 𝑒𝑠

100
 

                                         𝑒𝑖 =
ℎ𝑟𝑖 × 𝑒𝑠

100
 

                                          𝑒𝑠 = 6.13753 × 10−3 × 𝑒
𝑇𝑎×

18.564−
𝑇𝑎

254.4
𝑇𝑎+255.57  

 Where 𝑒𝑜 𝑒𝑖 : outlet (inlet) water vapor (bar) 

  𝑃: atmospheric pressure (bar) 

  𝑒𝑠: saturated water vapor at air temperature (bar) 

  𝑇𝑎 : air temperature (°C) 

  ℎ𝑟𝑜 ℎ𝑟𝑖 : outlet (inlet) relative humidity (%) 
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